
# Question OPT A OPT B OPT C OPT D Question OPT A OPT B OPT C OPT D Ans Level Topic of 
syllabus

Week No of 
the Syllabus

1 Which system of transportation is the fastest and 
provides more comfort for men and material?

Railways Airways Waterways Roadways पǐरवहन कȧ कौन सी Ĥणालȣ सबस ेतेज़ है और पुǽषɉ और 
सामĒी के ͧलए अͬधक आराम Ĥदान करती है?

रेलवे एयरवेज जलमाग[ रोडवेज B 1 Introduction to 
Road Engineeing

79

2 Which mode of transportation has the maximum 
flexibility for travel with respect to route, 
directions, time etc?

Roadways Railways Waterways Airways माग[, Ǒदशा, समय आǑद के संबंध मɅ याğा के ͧलए ͩकस 
लचीलेपन कȧ अͬधकतम सीमा होती है?

रोडवेज रेलवे जलमाग[ एयरवेज A 2 Introduction to 
Road Engineeing

79

3 Where did the Central Road Research Institute 
Started?

England Nagpur New Delhi France कɅ ġȣय सड़क अनुसंधान संèथान कहाँ स ेशुǾ हुआ? इंगलɇड नागपुर नई Ǒदãलȣ ĥांस C 1 History of 
Highway 

Development

79

4 When did the IRC was set up? 1943 1860 1934 1973 IRC कȧ èथापना कब हु ई थी? 1943 1860 1934 1973 C 1 History of 
Highway 

Development

79

5 Who created central public works department to 
look after the work of road?

Lord William 
Bentinck

Lord Mayo Lord Dalhousie Lord Ripon सड़क का काम देखने के ͧलए कɅ ġȣय लोक Ǔनमा[ण ͪवभाग 
ͩकसने बनाया था?

लॉड[ ͪवͧलयम बɅǑटक लॉड[ मेयो लॉड[ डलहौजी लॉड[ ǐरपन C 1 History of 
Highway 

Development

79

6 Which cross slope is given to the top layer of 
road in Macadam Construction?

1 in 20 1 in 45 1 in 10 1 in 36 मैकाडम कंèĚÈशन मɅ सड़क कȧ सबस ेऊपरȣ परत को 
कौन सा Đॉस ढलान Ǒदया गया है?

20 मɅ 1 45 मɅ 1 10 मɅ 1 36 मɅ 1 D 2 History of 
Highway 

Development

79

7 Which is the highest point of a cross section of 
highway?

Camber Sub base Carriage way Crown राजमाग[ के एक Đॉस सेÈशन का उÍचतम ǒबदं ुकौन सा 
है?

केàबर सब बेस केरȣएज व े Đाउन D 1 Technical Terms 
used in Road 
Engineering 

79

8 What is the time required for a driver to realise 
the necessity of applying brakes to the vehicles?

Reaction Reflection Perception Sight distance वाहन चालकɉ को वाहनɉ मɅ Ħेक लगाने कȧ आवæयकता का 
एहसास करने के ͧलए ͩकतना समय आवæयक है?

ĤǓतͩĐया ǐरÝलेÈशन अनुभू Ǔत Ǻिçट दरूȣ C 2 Technical Terms 
used in Road 
Engineering 

79

9 Which alternative road is provided to divert traffic 
to avoid obstruction?

Loop Ring Trunk By pass बाधा स ेबचने के ͧलए यातायात को मोड़ने के ͧलए कौन सी 
वैकिãपक सड़क Ĥदान कȧ जाती है?

लूप ǐरगं Ěंक बाय पास A 1 Technical Terms 
used in Road 
Engineering 

79

10 What is marked as 'X'? Right of way Formation Roadway Carriage way 'X' के Ǿप मɅ Èया ͬचिéनत है? राईट ऑफ व े गठन रोड व े केरȣएज व े D 1 Technical Terms 
used in Road 
Engineering 

79

11 What is the width of shoulders in roads? 0.5m to 1.25m 1.25m to 2m 2m to 4m 4m to 6m सड़कɉ मɅ शोãडर कȧ चौड़ाई ͩकतनी होती है? 0.5m to 1.25m 1.25m to 2m 2m to 4m 4m to 6m B 1 Component parts 
of road

79
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12 Which is the portion of the road constructed for 
vehicular traffic?

Right way Formation Carriage way Road way वाहनɉ के आवागमन के ͧलए Ǔनͧम[त सड़क का कौन सा 
भाग है?

राईट व े गठन केरȣएज व े रोड व े C 1 Component parts 
of road

79

13 Which is the basic requirement of alignment? Crosses maximum 
number of bridges

Short Lengthy straight 
routes

Curves संरेखण कȧ बुǓनयादȣ आवæयकता कौन सी है? पुलɉ कȧ अͬधकतम 
संÉया पार करती है

कम लàब ेसीधे माग[ घटता B 2 Principles of road 
alignment

80

14 What is the restriction given to lengthy straight 
routes while setting road alignment? 

Minimum Maximum Depends on gradient Depends on rise 
and fall

रोड एलाइनमɅट सेट करते समय सीधे लàब ेराèतɉ पर Èया 
ĤǓतबंध है?

Ûयूनतम अͬधकतम ढाल पर Ǔनभ[र करता है उठने और ͬगरने पर 
Ǔनभ[र करता है

A 2 Principles of road 
alignment

80

15 Which survey established the centre line of the 
actual highway?

Location Preliminary Reconnaissance Cadastral ͩकस सवȶ¢ण ने वाèतͪवक राजमाग[ कȧ कɅ ġ रेखा कȧ 
èथापना कȧ?

èथान Ĥारंͧभक सैǓनक परȣ¢ण केडसेĚल A 1 Principles of road 
alignment

80

16 Which survey is conducted to find the number of 
possible alternative routes between two points?

Preliminary Reconnaissance Location Detailed दो ǒबदंओुं के बीच संभाͪवत वैकिãपक मागɟ कȧ संÉया 
£ात करने के ͧलए कौन सा सवȶ¢ण आयोिजत ͩकया 
जाता है?

Ĥारंͧभक सैǓनक परȣ¢ण èथान ͪवèततृ B 1 Principles of road 
alignment

80

17 Which is the classification of road according to 
importance?

State highways Second class Cement concrete Express highways मह×व के अनुसार सड़क का वगȸकरण कौन सा है? राÏय के राजमाग[ Ǒġतीय Įेणी सीमɅट कंĐȧट राजमागɟ को åयÈत करɅ B 2 Classification of 
roads

80

18 What is the normal recommended land width of 
national highway in open area?

24m 25m 35m 45m खलेु ¢ेğ मɅ राçĚȣय राजमाग[ कȧ सामाÛय अनुशंͧसत भूͧम 
चौड़ाई Èया है?

24m 25m 35m 45m D 1 Classification of 
roads

80

19 Which road connects areas of production and 
market with state highways and railways?

National highway Major district Village Other district कौन सी सड़क राÏय के राजमागɟ और रेलवे के साथ 
उ×पादन और बाजार के ¢ेğɉ को जोड़ती है?

राçĚȣय हाइवे मेजर ͫडिèĚÈट गाँव अÛय िजले B 2 Classification of 
roads

80

20 What is the minimum width of shoulders 
provided in national highways?

1m 1.5m 2m 2.5m राçĚȣय राजमागɟ मɅ Ĥदान ͩकए जाने वाले शोãडर कȧ 
Ûयूनतम चौड़ाई Èया है?

1m 1.5m 2m 2.5 m C 1 Classification of 
roads

80

21 What is the value of camber provided in the 
carriage way of gravel road? 

1 in 30 to 1 in 35 1 in 25 to 1 in 30 1 in 15 to 1 in 20 1 in 10 to 1 in 15 बजरȣ सड़क के कैǐरज व ेमɅ Ĥदान ͩकए गए केàबर का मान 
Èया है?

1 in 30 to 1 in 35 1 in 25 to 1 in 30 1 in 15 to 1 in 20 1 in 10 to 1 in 15 B 2 Materials used 
for the 

construction of 
different types of 

roads

80

22 Which camber is provided for earth roads? 1 in 25 to 1 in 30 1 in 20 to 1 in 25 1 in 5 to 1 in 20 1 in 5 to 1 in 10 अथ[ रोड के ͧलए कौन सा केàबर  Ĥदान ͩकया जाता है? 1 in 25 to 1 in 30 1 in 20 to 1 in 25 1 in 5 to 1 in 20 1 in 5 to 1 in 10 B 1 Materials used 
for the 

construction of 
different types of 

roads

80

23 Which is the direction of rolling in highway 
construction?

Sides and proceeds 
to centre

Centre and 
proceeds to sides

Centre only One side and 
proceed to other

राजमाग[ Ǔनमा[ण मɅ रोͧलगं कȧ Ǒदशा Èया है? साइडो  और कɅ ġ के ͧलए 
आगे बढ़ता है

सɅटर और साइडो  के 
ͧलए आगे बढ़ता है

केवल कɅ ġ एक तरफ और दसूरे 
साइड  ͧलए आगे बढ़ना

A 2 Materials used 
for the 

construction of 
different types of 

roads

80

24 Which is an advantage of cement concrete 
pavement?

Initial coat is low Tractive resistance 
is low

Rolling resistance is 
high

Less time for 
construction

सीमɅट कंĐȧट फुटपाथ का कौन सा लाभ है? Ĥारंͧभक कोट कम है आकष[क ĤǓतरोध कम है रोͧलगं ĤǓतरोध अͬधक 
है

Ǔनमा[ण का कम समय B 2 Materials used 
for the 

construction of 
different types of 

roads

80

25 What is the another name of continuous bay 
method?

Alternate Strip Expansion Traverse कंटȣǓनअस ब ेͪवͬध का दसूरा नाम Èया है? वैकिãपक पɪटȣ ͪवèतार Ěेवस[ B 1 Materials used 
for the 

construction of 
different types of 

roads

80


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# Question OPT A OPT B OPT C OPT D Question OPT A OPT B OPT C OPT D Ans Level Topic of 
syllabus

Week No 
of the 

Syllabus

1 Which circular curve consists of a single arc of 
uniform radius?

Compound Simple Reverse Transition ͩकस गोल कव[ मɅ समान ǒğÏया का एकल चाप होता है? यौͬगक सरल ǐरवस[ Ěांिजशन B 1 Circular curve 
Radius

81

2 How a simple circular curve designated? Curvature of the 
curve

Radius of the curve Angle subtended by 
an arc

Angle subtended by 
a chord

एक सरल कव[ को कैसे ͫडजाईन करते हɇ? वĐ कȧ वĐता वĐ कȧ ǒğÏया कोण एक चाप ɮवारा 
ĤǓतèथाͪपत

कोण एक जीवा ɮवारा 
ĤǓतèथाͪपत

B 2 Curves -Types, 
designation of 

curves

81

3 Which transition curve is recommended by the 
IRC in the horizontal alignment of highway?

Spiral Lemniscate Cubic parabola Summit IRC ɮवारा राजमाग[ के ¢ैǓतज संरेखण मɅ कौन स े
Ěांिजशन वĐ कȧ ͧसफाǐरश कȧ जाती है?

èपाइरल लेͧमनेèकेट घन परवलय सͧमट A 1 Curves -Types, 
designation of 

curves

81

4 Which instrument is used for setting out curves 
in angular method?

Compass Tape Chain Theodolite कोणीय ͪवͬध मɅ कव[ èथाͪपत करने के ͧलए ͩकस 
उपकरण का उपयोग ͩकया जाता है?

कंपास टेप चने ͬथओडोलाइट D 1 Setting out 
simple circular 

curve

81

5 Which is the linear method of setting out a 
simple circular curve?

Successive 
bisection of arcs

Two theodolite 
method

Tachometric method Rankin's method सरल वƣृाकार वĐ èथाͪपत करने कȧ रैͨखक ͪवͬध कौन 
सी है?

सकसेͧशव बाईसेÈशन 
ऑफ आक[

दो ͬथयोडोलाइट ͪवͬध टैकोमेǑĚक ͪवͬध रɅकाइन ͪवͬध A 2 Setting out 
simple circular 

curve

81

6 What is the equation for mechanical widening on 
curve?

वĐ पर यांǒğक चौड़ीकरण के ͧलए समीकरण Èया है? B 1 Widening of 
Pavement on 

horizontal curves

81

7 How much extra width of pavement on horizontal 
curves is given for a radius of 21 to 40m for two 
lane?

1.5m 1.2m 0.9m 0.6m टू लेन के ͧलए 21 स े40 m कȧ ǒğÏया के ͧलए ¢ैǓतज 
कव[ पर फुटपाथ कȧ ͩकतनी अǓतǐरÈत चौड़ाई दȣ जाती 
है?

1.5m  1.2 m 0.9m 0.6m A 2 Widening of 
Pavement on 

horizontal curves

81

8 What is the minimum width provided for the 
cycle track in urban areas?

1m 1.5m 2m 3m शहरȣ ¢ेğɉ मɅ साइͩकल Ěैक के ͧलए Ûयूनतम चौड़ाई Èया 
है?

1m 1.5m 2m 3m C 1 Road Margin- 
shapes

81

9 What is the minimum shoulder width 
recommended by IRC?

1.30m 1.85m 2m 2.5m IRC ɮवारा अनुशंͧसत Ûयूनतम शॉãडर चौड़ाई Èया है? 1.30m 1.85m 2m 2.5m D 1 Road Margin- 
shapes

81

10 What is the value of minimum gradient? 1 in 14.3 1in 20 1in 30 1 in 200 Ēेͫडएंट का Ûयूनतम मान Èया है? 1 in 14.3 1in 20 1in 30 1 in 200 D 1 Camber, Super 
elevation, sight 

distance, gradient

81
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11 What is the minimum sight distance 
recommended by IRC for minor roads?

11m 15m 18m 20m मामूलȣ सड़कɉ के ͧलए IRC ɮवारा अनुशंͧसत Ûयूनतम 
Ǻिçट दरूȣ Èया है?

11m 15m 18m 20m B 1 Camber, Super 
elevation sight 

distance, gradient

81

12 What is the main purpose of providing camber? To follow IRC 
specification

To prevent entry of 
moisture into 

subgrade

To maintain 
equilibrium

To follow 
specifications

केàबर Ĥदान करने का मुÉय उɮदेæय Èया है? IRC ͪवǓनदȶशन का 
पालन करने के ͧलए

नमी के Ĥवेश को रोकने 
के ͧलए

इकुलȣǒĦयम बनाए 
रखने के ͧलए

ͪवǓनदȶशɉ का पालन 
करने के ͧलए

B 2 Camber, Super 
elevation sight 

distance, gradient

81

13 Which shape of the surface drain is most 
preferred for heavy discharge in road?

Rectangular U shaped Semicircular V shaped सड़क मɅ भारȣ ͫडèचाज[ के ͧलए सतह नालȣ का कौन सा 
आकार सबस ेअͬधक पसंद ͩकया जाता है?

आयताकार U के आकार का अध[वƣृाकार V के आकार का A 2 Road Drainage 
System

81

14 Which culvert is used if the water opening is less 
than 15m² and road crosses the water way on a 
relatively high embankment?

Pipe Arch Box Slab यǑद वाटर ओपǓनगं 15m² स ेकम है और सड़क का पानी 
अपे¢ाकृत ऊंच ेतटबंध पर जाता है तो ͩकस पुͧलया का 
उपयोग ͩकया जाता है?

पाइप मेहराब ͫडÞबा èलेब D 2 Road Drainage 
System

81

15 Which drain is suitable for small streets of less 
discharge?

V shaped Semi circular Rectangular U shaped कम ͫडèचाज[ कȧ छोटȣ सड़कɉ के ͧलए कौन सी नालȣ 
उपयुÈत है?

V के आकार का अध[ गोलाकार आयताकार U के आकार का B 1 Road Drainage 
System

81



# Question OPT A OPT B OPT C OPT D Question OPT A OPT B OPT C OPT D Ans Level Topic of syllabus Week No of 
the Syllabus

1 What is the rise in level of the river water due to 
obstruction of bridge?

Highest flood level Run off Afflux Free board पुल के अवरोध के कारण नदȣ के पानी के èतर मɅ वɮृͬध 
Èया है?

उÍचतम बाढ़ èतर रन ऑफ अÝलÈस ĥȧ बोड[ C 1 Component, parts 
of bridge 

82

2 Which is the intermediate support of a bridge 
superstructure?

Foundation Pier Abutment Wing wall एक पुल अͬधरचना का मÚयवतȸ समथ[न कौन सा है? नींव ͪपयर अबटमɅट ͪवगं वाल B 1 Component, parts 
of bridge 

82

3 Which is the temporary pier made in the river 
bed?

Kerb Scuppers Afflux Cribs नदȣ के तल मɅ बना अèथायी ͪपयर कौन सा है? कब[ èकपस[ अÝलÈस ͩĐÞस D 1 Componen,t parts 
of bridge 

82

4 What is the minimum distance between the 
specified position on a bridge?

Bearings Clearance Afflux Water way एक पुल पर ǓनǑद[çट िèथǓत के बीच Ûयूनतम दरूȣ Èया 
है?

ǒबयǐरÊंस ÈलȣयरेÛस अÝलÈस वाटर वे B 1 Selection of bridge 
type and location 

82

5 Which foundation is suitable for the construction 
of bridge?

Pile Shallow Grillage Inverted arch पुल के Ǔनमा[ण के ͧलए कौन सी नींव उपयुÈत है? पाइल शलेो Ēीलेज इंवरटेड आच[ A 1 Foundation for 
bridges 

82

6 Which material is suitable for caisson of open 
well type?

Cast iron RCC Steel Timber खलेु कुए ंके Ĥकार के ͧलए कौन सी सामĒी उपयुÈत है? कÍचा लोहा RCC इèपात लकड़ी A 1 Caissons 83

7 Which is a temporary structure constructed to 
remove water or soil from an area to carry 
construction under dry condition?

Caisson Well Coffer dam Box शुçक िèथǓत मɅ Ǔनमा[ण करने के ͧलए एक ¢ेğ स ेपानी 
या ͧमɪटȣ को हटाने के ͧलए बनाई गई एक अèथायी 
संरचना कौन सी है?

केसन कंुआ कॉफ़र बांध ͫडÞबा C 1 Coffer dam - Types 83

8 Which is most common type of coffer dam? Wells Dike Pneumatic Box कॉफ़र बांध का सबस ेआम Ĥकार कौन सा है? वेãस तटबंध ÛयूमेǑटक ͫडÞबा B 1 Coffer dam - Types 83

9 What is the shape of the wingwall if it is inclined 
in plan?

Straight Return wall Square Splayed यǑद Üलान मɅ झुकाव है, तो ͪवगंवॉल का आकार Èया है? सीधे ǐरटन[ वाल वग[ èÜलेड D 1 Substructure of 
bridge

83
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10 What is the name of the abutment shown in 
figure?

Straight Splayed wing wall Return wing wall Straight wing wall ͬचğ मɅ Ǒदखाए गए अबटमɅट का Èया नाम है? सीधे èÜलेड ͪवगं वॉल ǐरटन[ वाल èĚेट ͪवगं वाल C 1 Substructure of 
bridge

83

11 What is the name of the wingwall if the angle of 
splay 90°?

Splayed Return Straight Tee abutment यǑद 90° के कोण पर ͪवगंवॉल है तो उसका नाम Èया 
है?

èÜलेड ǐरटन[ सीधा टȣ एबटमɅट B 1 Substructure of 
bridge

83

12 Which bridge composed of several small spans 
for crossing a valley?

Aqueduct Fort Viaduct Deck घाटȣ को पार करने के ͧलए ͩकस पुल स ेकई छोटे-छोटे 
èपैन बने होते हɇ?

नहर ͩकला पुल डके C 1 Classification of 
bridges 

83

13 What is the maximum span of culvert? 2 m 3 m 5 m 6 m पुͧलया का अͬधकतम èपान Èया है? 2 m 3 m 5 m 6 m D 1 Classification of 
bridges 

83

14 Which bridge is mostly used for railway bridges 
of small spans?

Steel girder Steel trough plate Suspension Steel truss छोटे èपैन के रेलवे पुलɉ के ͧलए Ïयादातर ͩकस पुल का 
उपयोग ͩकया जाता है?

èटȣल का गड[र èटȣल Ěफ Üलेट Ǔनलंबन èटȣल Ěस B 1 Classification of 
bridges 

83

15 Which bridge is shown in figure? Semi through Deck Through  Suspension कौन सा पुल ͬचğ मɅ Ǒदखाया गया है? सेमी Ġो डके Ġो Ǔनलंबन C 1 Classification of 
bridges 

83

16 What is marked as 'x'? Clearance Approach Free board Apron X' के Ǿप मɅ Èया ͬचिéनत है? ÈलȣयरेÛस अĤोच ĥȧ बोड[ एĤन C 2 Component parts 
of bridges

82

17 Which is the main characteristic for an ideal site 
for a bridge?

Stream should be 
broad 

Built up areas Reach of stream 
should be straight 

Whirls and cross 
currents  

एक पुल के ͧलए एक आदश[ साइट के ͧलए मुÉय 
ͪवशषेता कौन सी है?

èĚȣम åयापक होनी 
चाǑहए

ǒबãट अप एǐरया धारा कȧ पहु ंच सीधी 
होनी चाǑहए

भंवर और पार धाराओं C 2 Selection of bridge 
type and location 

82





18 What plays a great role in fixing the height of 
bridge?

Design Effect of scouring Highest flood level Type of traffic पुल कȧ ऊंचाई तय करने मɅ Èया बड़ी भूͧमका है? ͫडज़ाइन èकोǐरगं का Ĥभाव उÍचतम बाढ़ èतर यातायात का Ĥकार C 2 Alignment of bridge  82

19 Which is provided for the superstructure in the 
alignment on curve in hilly areas?

RCC girders Box culverts Dumb bell pier Column bents पहाड़ी ¢ेğɉ मɅ वĐ पर संरेखण मɅ सुपरèĚÈचर के ͧलए 
कौन सा Ĥदान ͩकया जाता है?

RCC गड[स[ बॉÈस पुͧलया डàब बेल ͪपयर èतंभ बɅट A 2 Alignment of bridge  82

20 When did spread foundation is adopted for 
bridges?

Good soil is 
available at shallow 

depth

Depth of water is 
more 

Good soil is not 
available at shallow 

depth 

Tension developed 
is more 

पुलɉ के ͧलए फैलȣ नींव को कब अपनाया गया? अÍछȤ ͧमɪटȣ उथलȣ 
गहराई पर उपलÞध है

पानी कȧ गहराई अͬधक 
है

उथलȣ गहराई पर अÍछȤ 
ͧमɪटȣ उपलÞध नहȣं है

ͪवकͧसत तनाव अͬधक 
है

A 2 Foundation for 
bridges 

82

21 Which foundation is adopted when the loose soil 
extends to a great depth?

Spread Raft Caisson Pile ढȣलȣ ͧमɪटȣ अͬधक गहराई तक फैलȣ होने पर कौन सी 
नींव को अपनाया जाता है?

फैलाव राÝट केसन पाइल D 2 Foundation for 
bridges 

82

22 Which foundation is provided for heavy works at 
a depth of 12 m to 15 m below the level of 
standing water surface?

Well Caisson Coffer dam Pile ǽके पानी कȧ सतह के èतर के नीच े12 m स े15 m कȧ 
गहराई पर भारȣ कायɟ के ͧलए कौन सी नींव Ĥदान कȧ 
जाती है?

कंुआ केसन कॉफ़र बांध पाइल B 2 Foundation for 
bridges 

82

23 Which caisson the ratio of sinking effort to skin 
friction is maximum?

Circular well Box Dumb well Pneumatic caisson ×वचा के घष[ण के ͧलए डूबन ेके Ĥयास का अनुपात 
अͬधकतम कौन सा है?

वƣृाकार कुआँ ͫडÞबा डàब बेल वायवीय केसन A 2 Caissons 83

24 What is the minimum percentage of oxygen 
concentration in underground air quality for 
tunnel? 

12.5'% 15.5'% 17.5'% 19.5'% सुरंग के ͧलए भूͧमगत वाय ुकȧ गुणवƣा मɅ ऑÈसीजन 
का Ûयूनतम ĤǓतशत ͩकतना है?

12.5'% 15.5'% 17.5'% 19.5'% D 2 Tunnel rules used 
for the different 

member 

83

25 What is the maximum noise levels of ventilation 
fans while measure at the closest point of 
employee exposure?

90 decibel 100 decibel 120 decibel 130 decibel कम[चारȣ जोͨखम के Ǔनकटतम ǒबदं ुपर मापते समय 
वɅǑटलेशन Ĥशंसकɉ का अͬधकतम शोर èतर Èया है?

90 decibel 100 decibel 120 decibel 130 decibel A 2 Tunnel rules used 
for the different 

member 

83



# Question OPT A OPT B OPT C OPT D Question OPT A OPT B OPT C OPT D Ans Level Topic of 
syllabus

Week No of 
the 

Syllabus

1 Who started the development of railways in 
India?

George Stephenson Lord Dalhousie Lord Curzon Lord Ripon भारत मɅ रेलवे के ͪवकास कȧ शुǽआत ͩकसने कȧ? जॉज[ èटȣफɅ सन लॉड[ डलहौजी लॉड[ कज[न लॉड[ ǐरपन B 1 Indian railways, 
Rail, gauges 

84

2 Which gauge is adopted for main cities and 
routes of maximum intensities?

Broad Narrow Metre Wide मुÉय शहरɉ और अͬधकतम तीĭता के मागɟ के ͧलए कौन 
सा गेज अपनाया जाता है?

Ħोड संकȧण[ मीटर चौड़ा A 1 Indian railways, 
Rail, gauges 

84

3 What is the process for filling the ballast around 
the sleepers?

Creep Turn table Boxing Coning èलȣपरɉ के आसपास ͬगɪटȣ भरने कȧ ĤͩĐया Èया है? Đȧप टन[ टेबल बॉिÈसंग कॉǓनगं C 1 Technical terms 84

4 What is the width of broad gauge? 0.16 m 0.762 m 1.00 m 1.676 m Ħॉड गेज कȧ चौड़ाई ͩकतनी है? 0.16 m 0.762 m 1.00 m 1.676 m D 1 Technical terms 84

5 What is the name for raising of the level of the 
outer rail over that of inner rail?

Creep Cant Boxing Wearing आंतǐरक रेल के ऊपर बाहरȣ रेल के èतर को बढ़ाने के ͧलए 
Èया नाम है?

Đȧप कɅ ट बॉिÈसंग ͪवयǐरगं B 1 Technical terms 84

6 What is the name of the defect in rail due to 
abnormality of heavy load?

Hogging Wear Creep Kink भारȣ भार कȧ असामाÛयता के कारण रेल मɅ दोष का नाम 
Èया है?

होिÊगंग ͪवयर Đȧप ͩकंक B 1 Welding of rail, 
wear of rail

84

7 What is the length of bull headed rail? 16.7 m 18.29 m 18.6m 19.2mm बुल हेडडे रेल कȧ लंबाई ͩकतनी है? 16.7 m 18.29 m 18.6m 19.2mm B 1 Types of rails 84

8 What is the name of the steel placed end to end 
to provide a level surface for the movement of 
trains?

Ballast Sleepers Rails Fish plates Ěेनɉ कȧ आवाजाहȣ के ͧलए एक èतर कȧ सतह Ĥदान 
करने के ͧलए अतं मɅ रखे जाने वाले èटȣल का नाम Èया 
है?

ͬगɪटȣ èलȣपर रेल ͩफश ÜलेटɅ C 1 Types of rails 84

9 What is the minimum depth of ballast for broad 
gauge?

20 cm 30 cm 40 cm 50 cm Ħॉड गेज के ͧलए ͬगɪटȣ कȧ Ûयूनतम गहराई Èया है? 20 cm 30 cm 40 cm 50 cm A 1 Permanent way 85

10 What is the minimum spacing between sleepers 
in broad gauge?

200 mm 250 mm 300 mm 500 mm Ħॉड गेज मɅ èलȣपरɉ के बीच Ûयूनतम ǐरिÈत Èया है? 200 mm 250 mm 300 mm 500 mm D 1 Sleepers 85

11 Which is a cast iron sleeper? Duplex Steel Pot Box काèट आयरन èलȣपर कौन सा है? डुÜलेÈस इèपात पॉट ͫडÞबा C 1 Sleepers 85

12 What is the standard size of ballast for wooden 
sleepers?

25 mm 40 mm 50 mm 60 mm लकड़ी के èलȣपरɉ के ͧलए ͬगɪटȣ का मानक आकार Èया 
है?

25 mm 40 mm 50 mm 60 mm C 1 Ballast 85
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13 What is used for fixing the rails to the wooden 
sleepers?

Spikes Bearing plates Fish bolt Rail chair लकड़ी के èलȣपरɉ कȧ पटǐरयɉ को ठȤक करने के ͧलए Èया 
उपयोग ͩकया जाता है?

èपाइक ǒबयǐरगं  ÜलेटɅ ͩफश  बोãट रेल चयेर A 1 Fixtures, 
Fastenings and 

joints

85

14 Which is used for changing the direction of 
engine?

Rail joint Turn table Points and crossing Terminal station इंजन कȧ Ǒदशा बदलने के ͧलए ͩकसका उपयोग ͩकया 
जाता है?

रेल जॉइंट टन[ टेबल पॉइंɪस एंड Đाͧसगं टͧम[नल èटेशन B 1 Fixtures, 
Fastenings and 

joints

85

15 Which is used for joining the rail? Spikes Rail chairs Fish plates Bearing plate रेल को जोड़ने के ͧलए ͩकसका उपयोग ͩकया जाता है? èपाइक रेल कȧ कुͧस[याँ ͩफश  ÜलेटɅ ǒबयǐरगं Üलेट C 1 Fixtures, 
Fastenings and 

joints

85

16 What is the defect of rail with its end or ends 
bent in vertical direction?

Wear of rails Hogging of rails Creep of rails Bending of rails रेल का उसके एंड के साथ दोष Èया है िजसम ेउसका एंड 
ऊÚवा[धर Ǒदशा मɅ मुड़ा हुआ हो?

ͪवयर ऑफ रेल रेल कȧ हॉͬगगं Đȧप ऑफ रेल रेल कȧ बेिÛडगं B 1 Technical terms 84

17 Which direction does rail creep occurs? Longitudinal Lateral Vertical Transverse रेल Đȧप ͩकस Ǒदशा मɅ होता है? अनुदैÚय[ पाæव[ खड़ा आड़ा A 2 Creep in rail 84

18 Which is used to reduce creeping of rail? Bearing plates Spikes Anchors Chairs रेल Đȧͪपगं को कम करने के ͧलए ͩकसका उपयोग ͩकया 
जाता है?

ǒबयǐरगं ÜलेटɅ èपाइक एंकर कुͧस[यɉ C 2 Creep in rail 84

19 Which method is used to repair the worn out or 
damaged rails and to built up damaged 
components of points and crossing?

Bending Hogging  Creep Welding Ǔघसे-ͪपटे या ¢ǓतĒèत रेलɉ को ठȤक करने और ǒबदंओुं 
और Đॉͧसगं के ¢ǓतĒèत घटकɉ को बनाने के ͧलए ͩकस 
ͪवͬध का उपयोग ͩकया जाता है?

बेिÛडगं होिÊगंग Đȧप वेिãडगं D 2 Welding of rail, 
wear of rail

84

20 Which area wear of rails maximum? Top of rail End of rail Inner side of rail Head of rail रेल कȧ ͪवयर का अͬधकतम ¢ेğ होता हɇ? रेल के ऊपर रेल  के अतं रेल के  भीतरȣ ͩकनारे रेल के हेड B 2 Welding of rail, 
wear of rail

84

21 What is the height of embankment above HFL in 
the construction of permanent way?

30 cm 50m 60 cm 65 cm èथायी तरȣके स ेǓनमा[ण मɅ HFL के ऊपर तटबंध कȧ 
ऊंचाई ͩकतनी है?

30 cm 50m 60 cm 65 cm C 2 Permanent way 85

22 What is the process of tightly ramming the 
ballast under the sleepers to transmit the load?

Packing Laying Boxing Fixing भार को संचाǐरत करने के ͧलए èलȣपरɉ के नीच ेͬगɪटȣ को 
कसकर बांधने कȧ ĤͩĐया Èया है?

पैͩकंग ǒबछाना मुÈकेबाज़ी ͩफिÈसंग A 2 Ballast 85

23 What is the name of the spike is in figure? Round Screw Elastic Dog आकृǓत मɅ èपाइक का नाम Èया है? गोल èĐू इलािèटक डॉग D 2 Fixtures, 
Fastenings and 

joints

85

24 Which warner signal is first seen by the driver in 
railway station?

Disc signal Home signal Outer signal Routing signal रेलवे èटेशन मɅ चालक ɮवारा सबस ेपहले ͩकस वॉन[र 
ͧसÊनल को देखा जाता है?

ͫडèक संकेत होम ͧसÊनल आउटर ͧसÊनल राउǑटगं ͧसÊनल C 2 Railway station 
and yard 

85

25 Which crossing the right hand rail of one track 
crosses the left hand rail of another track and 
vice versa?

Acute angle Obtuse angle Square Rectangular ͩकस Đाͧसगं मɅ  एक Ěैक के दाǑहने हाथ कȧ रेल को दसूरे 
Ěैक के बाए ंहाथ कȧ रेल को पार करते हɇ और इसके 
ͪवपरȣत भी ?

Ûयून कोण अͬधक कोण वग[ आयताकार A 2 Railway station 
and yard 

85





# Question OPT A OPT B OPT C OPT D Question OPT A OPT B OPT C OPT D Ans Level Topic of syllabus Week No 
of the 

Syllabus

1 Which underground water nourishes the plant 
roots by capillarity?

Subsurface Surface Flood Flow ͩकस भूͧमगत जल स ेपौधɉ कȧ जड़ɉ का पोषण होता है? उपसतह सतह बाढ़ Ýलो A 1 Irrigation on - 
Advantages, 

Disadvantages,Met
hod 

86

2 Which method of irrigation is called trickle 
irrigation?

Furrow Sprinkler Drip Border strip ͧसचंाई कȧ ͩकस ͪवͬध को ǑĚकल ͧसचंाई कहा जाता है? कंुड िèĤंकलर ͫĜप बॉड[र िèĚप C 1 Irrigation on - 
Advantages, 

Disadvantages,Met
hods 

86

3 What is the main advantage of irrigation? Water logging Yield of crops Complex Damper climate ͧसचंाई का मुÉय लाभ Èया है? वाटर लोͬगगं फसलɉ कȧ पैदावार जǑटल डàैपर Èलाईमेट B 1 Irrigation on - 
Advantages, 

Disadvantages,Met
hods 

86

4 Which irrigation method water is supplied to 
lower level by the action of gravity?

Flow Lift Sprinkler Subsurface गुǽ×वाकष[ण कȧ ͩĐया ɮवारा ͩकस ͧसचंाई ͪवͬध के 
पानी को Ǔनचले èतर तक पहु ँचाया जाता है?

Ýलो ͧलāट िèĤंकलर उपसतह A 1 Irrigation on - 
Advantages, 

Disadvantages,Met
hods 

86

5 Which crops are sown in autumn in harvested in 
spring?

Kharif Autumn Rabi  South west 
monsoon

वसंत मɅ कटाई मɅ शरद ऋत ुमɅ कौन सी फसलɅ बोई 
जाती हɇ?

खरȣफ पतझड़ रबी  दͯ¢ण पिæचम 
मानसून

C 1 Terms used in 
irrigation 

86

6 What is the relation between duty (D) Delta (D) 
and base period (B)?

कत[åय (D) डãेटा (D) और आधार अवͬध (B) के बीच 
Èया संबंध है?

C 1 Terms used in 
irrigation 

86

7 What is the time between first watering of a crop 
on sowing to its last watering before harvesting?

Base period Rabi season Kor period Crop period फसल पकने स ेपहले फसल को बोने स ेपहले पानी देने 
के बीच का समय Èया है?

बेस अवͬध रबी का मौसम कोर काल फसल कȧ अवͬध A 1 Terms used in 
irrigation 

86

8 What is the total depth of water required by a 
crop during the entire period in the field?

Duty Base period Delta Crop period खेत मɅ पूरȣ अवͬध के दौरान एक फसल ɮवारा पानी कȧ 
कुल गहराई कहलाती है ?

ɬयूटȣ आधार अवͬध डãेटा फसल कȧ अवͬध C 1 Terms used in 
irrigation 

86

9 What is the first watering before sowing the crop? Kor watering Paleo Delta Duty फसल को बोने स ेपहले पहला पानी देना Èया है? कोर काल पैͧलयो डãेटा ɬयूटȣ B 1 Terms used in 
irrigation 

86

10 Which is the graphical representation of average 
rainfall between rainfall excess? 

Hyetograph Hydrograph S-hydrograph Unit hydrograph वषा[ कȧ अͬधकता के बीच औसत वषा[ का ͬचğमय 
ĤǓतǓनͬध×व कौन सा है?

हाईटोĒाफ हाइĜोĒाफ S - हाइĜोĒाफ यूǓनट हाइĜोĒाफ B 1 Hydrograph, 
Runoff catchment 

area

87

11 Which catchment area run off will be more? Fan shaped Tree shaped Fern shaped Circular कौन स ेकैचमɅट एǐरया का रनऑफ  अͬधक होगा? पंखे के आकार कȧ व¢ृ के आकार का फन[ के आकार का गोलाकार A 1 Hydrograph, 
Runoff catchment 

area

87

12 Which is the angle that the axis of head regulator 
makes with the axis of the weir?

90° to 120° 90° to 60° 90° to 100° 180° वह कोण कौन सा है जो हेड रेगुलेटर कȧ धरुȣ को ͪवयर 
कȧ धरुȣ स ेबनाता है?

90° to 120° 90° to 60° 90° to 100° 180° A 1 Storage diversion 
head work

87

13 Which construction is at the head of the canal to 
divert the river water towards the canal?

Storage head work Diversion head work Barrage Weir नदȣ के पानी को नहर कȧ ओर मोड़ने के ͧलए नहर के 
ͧसर पर कौन सा Ǔनमा[ण होता है?

èटोरेज हेड वक[ डाईवस[न हेड वक[ बेरेज ͪवयर B 1 Storage diversion 
head work

87
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14 Which is called safety valve of a dam? Drainage gallery Inspection gallery Spill way Outlet sluices बांध का सुर¢ा वाãव ͩकस ेकहा जाता है? Ĝनेेज गैलेरȣ Ǔनरȣ¢ण गेलेरȣ िèपल वे आउटलेट èलूइस C 1 Reservoir - Types 87

15 What is the name for accumulation of water in 
the form of an artificial lake?

Spill ways Barrages Reservoir Groynes कृǒğम झील के Ǿप मɅ पानी के संचय के ͧलए Èया नाम 
है?

िèपल वे बैराज जलाशय Ēोइनेस C 1 Reservoir - Types 87

16 What is the classification of dam based on use? Detention Debris Rigid Buttress उपयोग के आधार पर बांध का वगȸकरण Èया है? डीटɅशन डǒेĦस कठोर बटरेस A 1 Dams - 
Classification 

88

17 Which of the following is non rigid dam? Concrete Rock fill Gravity Arch Ǔनàनͧलͨखत मɅ स ेकौन सा नॉन ǐरिजड बांध है? कंĐȧट रॉक ͩफल Ēेͪवटȣ मेहराब B 1 Dams - 
Classification 

88

18 Where did the surplus water in weir is allowed to 
flow? 

Gates Crest Spill way Openings ͪवयर मɅ अͬधशषे जल को कहां ĤवाǑहत ͩकया जाता है? गेɪस Đेèट िèपल वे ओपǓनगं B 1 Weirs, Barrages - 
Types

88

19 What is the life period of thermal plant? Less than 30 years More than 30 years Less than 50 years More than 50 years थम[ल Üलांट कȧ जीवन अवͬध Èया है? 30 वष[ स ेकम 30 स ेअͬधक वष[ 50 वष[ स ेकम 50 स ेअͬधक वष[ A 1 Hydro electric 
project 

88

20 What is marked as 'X'? Turbine Draft tube Gallery Pen stock 'X' के Ǿप मɅ Èया ͬचिéनत है? टबा[इन ĜाÝट ɪयूब गेलरȣ पेन èटॉक D 1 Hydro electric 
project 

88

21 Which irrigation constant and continuous supply 
of water is assured throughout the crop period?

Flood Artificial Perennial Inundation ͩकस फसल मɅ पानी कȧ Ǔनयत और Ǔनरंतर आपूǓत[ पू रे 
फसल काल मɅ होती है?

बाढ़ कृǒğम बारहमासी इननडशेन C 2 Irrigation on - 
Advantages, 

Disadvantages,Met
hods 

86

22 Which crop is grown at a particular crop season? Culturable cultivated 
area 

Gross commanded 
area  

Culturable 
commanded area  

Culturable 
uncultivated area  

ͩकसी ͪवशषे फसल के मौसम मɅ कौन सी फसल उगाई 
जाती है?

कãचरल कलटȣवेटेड  
एǐरया

Ēॉस कमानडडे एǐरया कãचरल कमांडडे 
एǐरया

कãचरल इंकलटȣवेटेड  
एǐरया

A 2 Terms used in 
irrigation 

86

23 When does hydrograph called as unit 
hydrograph?

1 cm of runoff from 
rainfall  

3 cm of runoff from 
rainfall  

1 mm of runoff from 
rainfall 

3 mm of runoff from 
rainfall 

हाइĜोĒाफ को इकाई हाइĜोĒाफ कब कहा जाता है? वषा[ स े1 cm कȧ  
रनऑफ  पर

वषा[ स े3 cm कȧ 
रनऑफ  पर

वषा[ स े1 mm कȧ 
रनऑफ  पर

वषा[ स े3 mm कȧ  
रनऑफ पर

A 2 Hydrograph, 
Runoff catchment 

area

87

24 What is the unit for measuring rainfall? cm mm Feet No unit वषा[ मापने कȧ इकाई Èया है? cm mm Feet No unit B 2 Hydrograph, 
Runoff catchment 

area

87

25 Which is the main function of diversion head 
work of a canal?

To remove silt To control floods To store water To raise water level नहर के ͧसर के मोड़ का मुÉय काय[ कौन सा है? ͧसãटǓनकालने के ͧलए बाढ़ को Ǔनयंǒğत करने 
के ͧलए

पानी èटोर करने के 
ͧलए

जल èतर बढ़ाने के ͧलए D 2 Storage diversion 
head work

87

26 Which is provided in the diversion headwork to 
scour away silt deposited?

Fish ladder Groynes Barrage Under sluices जमा ͩकए गए गाद को कुरेदन ेके ͧलए डायवस[न हेडवक[  
मɅ कौन सा Ĥावधान है?

ͩफश लेडर Ēोएनस बरेज èलुइस के अÛदर D 2 Storage diversion 
head work

87



27 Which is the main factor for selection of site for a 
reservoir?

Maximum runoff Maximum 
percolation 

Wide opening Minimum runoff जलाशय के ͧलए साइट के चयन का मुÉय कारक कौन 
सा है?

अͬधकतम रनऑफ अͬधकतम परकोलेशन वाइड ओपǓनगं Ûयूनतम रनऑफ A 2 Reservoir - Types 87

28 What is the name of dam? Rock fill dam Concrete buttress 
dam 

Earth dam Combined Earth 
and Rock dam

बांध का नाम Èया है? रॉक ͩफल बांध कंĐȧट बटरेस बांध अथ[ बांध कंबाइंड अथ[ और रॉक 
बांध

C 2 Dams - 
Classification 

88

29 Which is known as spill way? Water spread dam Detention dam Debris dam Over flow dam िजस ेिèपल व ेके Ǿप मɅ जाना जाता है? वाटर èĤीड डमे डीटɅशन डमे डǒेĦस  बांध ओवर Ýलो बांध D 2 Dams - 
Classification 

88

30 Which is the sheet of over flowing water? Head Nappe Upstream Crest अͬधक बहते पानी कȧ शीट कौन सी है? ͧसर आवरण अपèĚȣम Đेèट B 2 Weirs, Barrages - 
Types

88

31 What is the name of the structure placed in river 
to increase the depth of water?

Barrage Weir Notch Crest पानी कȧ गहराई बढ़ाने के ͧलए नदȣ मɅ रखी गई संरचना 
का Èया नाम है?

बराज ǒबयर नौच Đेèट A 2 Weirs, Barrages - 
Types

88

32 What is the name of the impervious barrier 
constructed across a perennial river to raise the 
water level on the upstream side?

Barrage Weir Notch Mouth piece ऊपर कȧ तरफ जल èतर बढ़ाने के ͧलए एक बारहमासी 
नदȣ के पार Ǔनͧम[त अभेɮय बेǐरयर का नाम Èया है?

बराज ǒबयर नौच माउथ पीस B 2 Weirs, Barrages - 
Types

88

33 Which element of hydroelectric power plant 
reduce the water hammer pressure formed in the 
penstock?

Valves Surge tank Turbines Draft tubes हाइĜो इलेिÈĚक पॉवर Üलांट का कौन सा त×व 
पेनèटॉक मɅ गǑठत वाटर हेमर Ĥेशर को कम करता है?

वाãव सज[ टɇक टबा[इन ĜाÝट ɪयूब B 2 Hydroelectric 
project 

88



# Question OPT A OPT B OPT C OPT D Question OPT A OPT B OPT C OPT D Ans Level Topic of syllabus Week No 
of the 

Syllabus

1 Which canal is constructed to feed two or more 
canals?

Carrier Feeder Navigation Irrigation दो या अͬधक नहरɉ को फȧड के ͧलए ͩकस नहर का Ǔनमा[ण 
ͩकया जाता है?

वाहक फȧडर पथ Ĥदश[न ͧसचंाई B 1 Classification 89

2 Which of the following canal is classified based 
on nature of supply?

Carrier Feeder Navigation Permanent Ǔनàनͧलͨखत मɅ स ेͩकस नहर को आपूǓत[ कȧ ĤकृǓत के 
आधार पर वगȸकृत ͩकया गया है?

वाहक फȧडर पथ Ĥदश[न èथायी D 1 Classification 89

3 Which canal carries water for another canal 
besides doing irrigation?

Carrier Feeder Navigation Power कौन सी नहर ͧसचंाई करने के अलावा दसूरȣ नहर के ͧलए 
पानी लेती है?

वाहक फȧडर पथ Ĥदश[न शिÈत A 1 Classification 89

4 What is marked as 'X'?  Free board Canal bed Berm Bank 'X' के Ǿप मɅ Èया ͬचिéनत है? ĥȧ बोड[ केनाल बेड बम[ बɇक B 2 Section of canal 89

5 Which canal is aligned along a water washed? Contour Side slope Ridge Power ͩकस नहर को वाटर वाæड स ेअलाइन ͩकया जाता है? कंटूर साइड ढलान ǐरज शिÈत C 1 Canal alignment 89

6 Which canal is also known as ridge canal? Contour Watershed Side slope Main ͩकस नहर को ǐरज नहर के नाम स ेभी जाना जाता है? कंटूर वाटरशडे साइड ढलान मुÉय B 1 Canal alignment 89

7 What is marked as 'X'?  Free board Canal bed Berm Bank 'X' के Ǿप मɅ Èया ͬचिéनत है? मुÈत बोड[ नहर का ǒबèतर उपतट बɇक A 1 Section of canal 89

8 What is also known as canal fall? Canal syphon Canal drop Super passage Aqueduct नहर ͬगरने के Ǿप मɅ भी जाना जाता है? नहर का साइफन नहर ͬगरना सुपर माग[ नहर B 1 Canal regulation 
works

89

9 What is marked as 'X'? Distributary head 
regulator

Off take channel Parent canal Cross regulator 'X' के Ǿप मɅ Èया ͬचिéनत है? ͫडèĚȣÞयूटरȣ हेड रेगुलेटर ऑफ टेक चनैेल पेरɅट नहर Đॉस रेगुलेटर A 1 Canal regulation 
works

89
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10 What is marked as 'X'? Parent canal Silt  jetty Off take canal Cross regulator 'X' के Ǿप मɅ Èया ͬचिéनत है? पेरɅट नहर ͧसãट जेटȣ ऑफ टेक कैनाल Đॉस रेगुलेटर B 1 Canal regulation 
works

89

11 Which cross drainage work is constructed to 
carry canal over drainage?

Aqueduct Super passage Canal syphon Level crossing जल Ǔनकासी पर नहर ले जाने के ͧलए कौन स ेĐॉस Ĝनेेज 
काय[ का Ǔनमा[ण ͩकया जाता है?

एÈवाडÈट सुपर पैसेज नहर का साइफन लेवल Đोͧसगं A 1 Cross drainage 
works

89

12 Which cross drainage work is constructed to 
carry canal below drainage?

Aqueduct Super passage Level crossing Inlet जल Ǔनकासी के नीच ेनहर ले जाने के ͧलए कौन स ेजल 
Ǔनकासी काय[ का Ǔनमा[ण ͩकया जाता है?

एÈवाडÈट सुपर पैसेज लेवल Đोͧसगं इनलेट B 1 Cross drainage 
works

89

13 Which cross drainage work is constructed to 
cross the canal and drainage at the same level?

Aqueduct Super passage Canal syphon Level crossing नहर को पार करने और उसी èतर पर जल Ǔनकासी के ͧलए 
कौन स ेĐॉस Ĝनेेज काय[ का Ǔनमा[ण ͩकया जाता है?

एÈवाडÈट सुपर पैसेज नहर का साइफन लेवल Đोͧसगं D 1 Cross drainage 
works

89

14 What is marked as 'X'?  FSL Stream HFL Canal 'X' के Ǿप मɅ Èया ͬचिéनत है? FSL èĚȣम HFL नहर B 1 Cross drainage 
works

89

15 What is marked as 'X'?  Canal syphon Drainage Culvert Trough 'X' के Ǿप मɅ Èया ͬचिéनत है? नहर का साइफन जलǓनकास पुͧलया Ěफ A 1 Cross drainage 
works

89




# Question OPT A OPT B OPT C OPT D Question OPT A OPT B OPT C OPT D Ans Level Topic of syllabus Week No of 
the Syllabus

1 What is the name given to built up area of 
building measured at floor level of any storey?

Plinth area Floor area Circulation area Carpet area ͩकसी भी मंिजला के तल èतर पर Ǔनͧम[त भवन के 
Ǔनमा[ण ¢ेğ को Èया नाम Ǒदया गया है?

िÜलंथ ¢ेğ Ýलोर एǐरया सकु[ लेशन एǐरया कारपेट एǐरया A 1 Terms used 90

2 What is the name given to area of a building 
consisting of verandah's, passages, corridors, 
balconies etc.?

Circulation area  Horizontal circulation 
area 

Vertical circulation 
area 

Carpet area एक इमारत के ¢ेğ को बरामदा, माग[, गͧलयारे, 
बालकǓनयɉ आǑद स ेÈया नाम Ǒदया गया है?

सकु[ लेशन एǐरया ¢ैǓतज सकु[ लेशन एǐरया ऊÚवा[धर सकु[ लेशन 
एǐरया

कारपेट एǐरया B 1 Terms used 90

3 What percentage of plinth area is provided for 
horizontal circulation area?

5 to 10% 10 to 15% 15 to 20% 20 to 25% ¢ैǓतज सकु[ लेशन एǐरया  के ͧलए िÜलंथ ¢ेğ का ͩकतना 
ĤǓतशत Ĥदान ͩकया जाता है?

5 to 10% 10 to 15% 15 to 20% 20 to 25% B 1 Terms used 90

4 What percentage of plinth area of the 
residential building comes to carpet area?

40 to 55% 50 to 65% 60 to 75% 70 to 85% ǐरहाइशी इमारत का िÜलंथ एǐरया ͩकतने ĤǓतशत कारपेट 
एǐरया मɅ आता है?

40 to 55% 50 to 65% 60 to 75% 70 to 85% B 1 Terms used 90

5 What percentage of estimate cost is charged 
for centage charges?

5 to 10% 10 to 15% 15 to 20% 20 to 25% सेÛटेज चाज[ के ͧलए अनुमान लागत का ͩकतना ĤǓतशत 
लगाया जाता है?

5 to 10% 10 to 15% 15 to 20% 20 to 25% B 1 Terms used 90

6 Which is rough cost estimate? Revised estimate Annual repair 
estimate

Plinth area estimate Supplementary 
estimate

कौन सा रफ काèट एèटȣमेट है? ǐरवाइÏड एèटȣमेट वाͪष[क मरàमत 
ĤाÈकलन

िÜलंथ ¢ेğ ĤाÈकलन पूरक ĤाÈकलन C 1 Types of estimate 90

7 Which is an item rate estimate? Plinth area Annual repair Cubical content Preliminary आइटम रेट ĤाÈकलन  कौन सा है? िÜलंथ एǐरया वाͪष[क मरàमत Èयूǒबकल कंटɅट Ĥारंͧभक B 1 Types of estimate 90

8 What is the sequence of booking 
measurements?

Breadth, length and 
depth 

Number, length and 
depth 

Diameter, length and 
density 

Length, breadth and 
height

बुͩकंग माप का Đम Èया है? चौड़ाई, लंबाई और 
गहराई

संÉया, लंबाई और 
गहराई

åयास, लंबाई और 
घन×व

लंबाई, चौड़ाई और 
ऊंचाई

D 1 Measurement 
techniques 

91

9 What is the minimum length for bill quantity 
calculation?

0.5 mm 1 mm 1cm 10 cm ǒबल माğा गणना के ͧलए Ûयूनतम लंबाई Èया है? 0.5 mm 1 mm 1cm 10 cm B 1 Measurement 
techniques 

91

10 What is the minimum area for bill quantity 
calculation?

1 mm² 1 cm² 0.01 sq.m 1m² ǒबल माğा गणना के ͧलए Ûयूनतम ¢ेğ Èया है? 1 mm² 1 cm² 0.01 sq.m 1m² C 1 Measurement 
techniques 

91

11 What is the unit for excavation in M.K.S system? m sq.m cu.m No M.K.S Ĥणालȣ मɅ उ×खनन के ͧलए इकाई Èया है? m sq.m cu.m No C 1 Units of 
measurement 

91
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12 What is the minimum cubical quantity for bill 
quantity calculation?

1 mm³ 1 cm³ 0.01 m³ 0.1 m³ ǒबल माğा गणना के ͧलए Ûयूनतम Èयूǒबकल माğा Èया 
है?

1 mm³ 1 cm³ 0.01 m³ 0.1 m³ C 1 Measurement 
techniques 

91

13 What is the unit for cement concrete in M.K.S. 
system?

Nos. m sq.m cu.m M.K.S Ĥणालȣ  मɅ सीमɅट कंĐȧट के ͧलए इकाई Èया है? Nos. m sq.m cu.m D 1 Units of 
measurement 

91

14 What is the unit for brick work in cement mortar 
for superstructure in MKS system?

m sq.m cu.m Nos. MKS Ĥणालȣ मɅ सुपरèĚÈचर के ͧलए सीमɅट मोटा[र मɅ 
Ƀट के काम के ͧलए इकाई Èया है?

m sq.m cu.m Nos. C 1 Units of 
measurement 

91

15 What is the unit for steel reinforcement bars etc 
in RCC, RB work in MKS system?

m Nos. Quintal sq.m RCC, RB मɅ MKS Ĥणालȣ मɅ इèपात सुǺढȣकरण बार 
आǑद के ͧलए इकाई Èया है?

m Nos. Quintal sq.m C 1 Units of 
measurement 

91

16 What is the unit for ridges, valleys, gutters in 
M.K.S system?

metre sq.m cu.m Nos. M.K.S Ĥणालȣ मɅ लकȧरɅ, घाǑटयाँ, गटर कȧ इकाई Èया है? metre sq.m cu.m Nos. A 1 Units of 
measurement 

91

17 What is the unit for flooring in MKS system? m sq.m cu.m Nos. MKS Ĥणालȣ मɅ फश[ के ͧलए इकाई Èया है? m sq.m cu.m Nos. B 1 Units of 
measurement 

91

18 What is the minimum lead for earth work 
excavation?

10 m 20 m 30 m 50 m पØृवी काय[ उ×खनन के ͧलए Ûयूनतम नेत×ृव Èया है? 10 m 20 m 30 m 50 m C 1 Main item of work 92

19 What is the minimum lift for earthwork 
excavation?

1 m 1.5 m 2.0 m 3.0 m अथ[वक[  उ×खनन के ͧलए Ûयूनतम ͧलÝट Èया है? 1 m 1.5 m 2.0 m 3.0 m B 1 Main item of work 92

20 What is the measuring unit for soling layer? m sq.m cu.m Nos. सोͧलगं लेयर के ͧलए मापने कȧ इकाई Èया है? m sq.m cu.m Nos. B 1 Main item of work 92

21 How much area of the opening is ignored for 
the masonry quantity calculation?

1. sq.cm 10 sq.cm 100 sq.cm 1000 sq.cm ͬचनाई माğा गणना के ͧलए ओपǓनगं का ͩकतना ¢ेğ 
अनदेखा ͩकया जाता है?

1. sq.cm 10 sq.cm 100 sq.cm 1000 sq.cm D 1 Main item of work 92

22 What is the measuring unit for cornice? m sq.m cu.m mm काǓन[स के ͧलए मापने कȧ इकाई Èया है? m sq.m cu.m mm A 2 Main item of work 92

23 What is the measuring unit for modern door and 
window frames?

m sq.m cu.m mm आधǓुनक ɮवार और ͨखड़कȧ के ĥेम के ͧलए मापने कȧ 
इकाई Èया है?

m sq.m cu.m mm C 2 Main item of work 92

24 What is the scale range used for the 
preparation of layout plan?

1cm = 5m to 1cm = 
10m

1cm = 10m to 1cm = 
20m

1cm = .5Km to 1cm 
= 1Km

1cm = 5Km to 1cm 
= 10Km

लेआउट योजना कȧ तैयारȣ के ͧलए उपयोग कȧ जाने वालȣ 
पैमाना सीमा Èया है?

1cm = 5m to 1cm = 
10m

1cm = 10m to 1cm 
= 20m

1cm = .5Km to 1cm 
= 1Km

1cm = 5Km to 
1cm = 10Km

B 2 Terms used 90



25 Which data is necessary for the preparation of 
estimate?

Labour Material Fund Drawings ĤाÈकलन तैयार करने के ͧलए कौन सा डटेा आवæयक है? लेबर सामĒी फÖड Ĝाइंग D 2 Types of estimate 90

26 Which estimate is prepared while the 
expenditure on a work exceeds by more than 
10%?

Supplementary Revised Annual repair Cubical content कौन सा ĤाÈकलन तैयार ͩकया जाता है जबͩक ͩकसी 
काय[ पर åयय 10% स ेअͬधक है?

पूरक संशोͬधत वाͪष[क मरàमत Èयूǒबकल कंटɅट B 2 Types of estimate 90

27 Which estimate is prepared while the original 
sanctioned estimate is exceeded by more than 
5%?

Supplementary Extension and 
improvement 

Revised Plinth area कौन सा ĤाÈकलन तैयार ͩकया जाता है जबͩक मूल 
èवीकृत अनुमान 5% स ेअͬधक है?

पूरक ͪवèतार और सुधार संशोͬधत िÜलंथ ¢ेğ C 2 Types of estimate 90

28 Which estimate is required for administrative 
sanction?

Approximate Detailed Revised Supplementary ĤशासǓनक èवीकृǓत के ͧलए कौन सा ĤाÈकलन  
आवæयक है?

अĤोिÈसमेट ͪवèततृ संशोͬधत पूरक A 2 Types of estimate 90

29 How aggregate is specified? Size in mm Length in mm Height and breadth 
in cm 

Length in m, section 
in mm

एĒीगेट को कैसे ǓनǑद[çट ͩकया जाता है? mm मɅ आकार mm मɅ लंबाई cm मɅ ऊँचाई और 
चौड़ाई

m मɅ लंबाई, mm मɅ 
सेÈशन

A 2 Measurement 
techniques 

91

30 Which brick wall thickness is measured in sq.m? 10 cm 15 cm 20 cm 30 cm कौन सी Ƀट कȧ दȣवार कȧ मोटाई को sq.m मɅ मापा जाता 
है?

10 cm 15 cm 20 cm 30 cm A 1 Method of building 
estimeate 

92

31 Which brick structure is measured in sq.m? Reinforced brick work Broken glass coping Concrete fencing 
posts 

Brick work in arches ͩकस Ƀट कȧ संरचना को sq.m मɅ मापा जाता है? Ĥबͧलत ǒĦक वक[ Ħोकन Êलास कोͪपगं कंĐȧट फɅ ͧसगं  पोèट मेहराब मɅ ǒĦक वक[ B 1 Method of building 
estimeate 

92

32 What (%) percentage of steel work is provided 
for rivets in steel roof truss?

3% 5% 7% 10% इèपात कȧ छत के पुͧलदंा मɅ ǐरवेɪस के ͧलए èटȣल काय[ 
का (%) ĤǓतशत Èया Ĥदान ͩकया जाता है?

3% 5% 7% 10% B 1 Method of building 
estimeate 

92

33 What is the density of mild steel? 0.785 q/cu.m 7.85q/cu.m 78.5q/cu.m 785q/cu.m माइãड èटȣल का घन×व ͩकतना है? 0.785 q/cu.m 7.85q/cu.m 78.5q/cu.m 785q/cu.m C 1 Method of building 
estimeate 

92

34 What is the plastering area for a pillar? Length x breadth x 
height 

Section area x height Perimeter Perimeter x height एक खभं ेके ͧलए पलèतर ¢ेğ Èया है? लंबाई x चौड़ाई x ऊँचाई खडं ¢ेğ x ऊँचाई पǐरमाप पǐरमाप x ऊँचाई D 1 Method of building 
estimeate 

92

35 What (%) percentage is added as 
contingencies in approximate estimate?

1% to 5% 5% to 10% 10% to 12% 10% to 15% अनुमाǓनत ĤाÈकलन मɅ कनटेनजɅसी के Ǿप मɅ Èया (%) 
ĤǓतशत जोड़ा जाता है?

1% to 5% 5% to 10% 10% to 12% 10% to 15% B 1 Method of building 
estimeate 

92



# Question OPT A OPT B OPT C OPT D Question OPT A OPT B OPT C OPT D Ans Level Topic of 
syllabus

Week No 
of the 

Syllabus

1 What is the out-turn of mason constructing 
stone arch work?

0.40 cu.m 0.55 cu.m 0.80 cu.m 0.90 cu.m प×थर के मेहराब Ǔनमा[ण काय[ मɅ मेसन का आउट-टन[ 
Èया है?

0.40 cu.m 0.55 cu.m 0.80 cu.m 0.90 cu.m A 1 Analysis of rate 93

2 What is the out-turn of mason, constructing 
superstructure with brick masonry?

0.55 cu.m 0.85 cu.m 1.00 cu.m 1.25 cu.m Ƀट-ͬचनाई के साथ अͬधसंरचना का Ǔनमा[ण करते हु ए, 
मेसन का आउट-टन[ Èया है?

0.55 cu.m 0.85 cu.m 1.00 cu.m 1.25 cu.m C 1 Analysis of rate 93

3 What percentage contractors profit is included 
in the analysis of rate?

5 10 15 20 दर के ͪवæलेषण मɅ ͩकतने ĤǓतशत ठेकेदारɉ का लाभ 
शाͧमल है?

5 10 15 20 B 1 Analysis of rate 93

4 What quantity bitumen is required for 100m²  
first coat painting on DPC?

75 Kg 100 Kg 125 Kg 150 Kg DPC पर 100 m² पहले कोट पɅǑटगं के ͧलए ͩकस 
माğा मɅ कोलतार कȧ आवæयकता होती है?

75 Kg 100 Kg 125 Kg 150 Kg D 1 Calculation of 
materials 

93

5 What quantity of stone is required for 1m³ of 
rubble masonry?

0.5 cu.m 0.75 cu.m 1.00 cu.m 1.25 cu.m मलब ेके 1m³ के ͧलए प×थर कȧ ͩकस माğा कȧ 
आवæयकता है?

0.5 cu.m 0.75 cu.m 1.00 cu.m 1.25 cu.m D 1 Calculation of 
materials 

93

6 How many nominal size bricks are required for 
1m³ of brick work?

500 600 700 800 Ƀट के काम के 1m³ के ͧलए ͩकतने नाममाğ आकार 
कȧ Ƀटɉ कȧ आवæयकता होती है?

500 600 700 800 A 1 Calculation of 
materials 

93

7 What quantity of coarse aggregate is required 
for 100m³ of 1:2:4 cement concrete?

84 m³ 86 m³ 88 m³ 90 m³ 1: 2: 4 सीमɅट कंĐȧट के 100m³ के ͧलए कुल कȧ 
ͩकतनी कोस[ एĒीगेट कȧ माğा आवæयक है?

84 m³ 86 m³ 88 m³ 90 m³ A 1 Calculation of 
materials 

93

8 What is printed list of rates of various items of 
work maintained by the engineering 
department?

Schedule of rates Analysis of rates Item rates Market rates इंजीǓनयǐरगं ͪवभाग ɮवारा रखे गए ͪवͧभÛन मदɉ कȧ 
दरɉ कȧ मुǑġत सूची Èया है?

कȧमतɉ कȧ सूची दरɉ का ͪवæलेषण आइटम दर बाजार दर A 1 Schedule of 
rates 

93

9 Who prepares the schedule of rates? Engineering 
department 

Contractors Private agencies Government 
agencies 

दरɉ का शɬेयूल कौन तैयार करता है? अͧभयिÛğͩक ͪवभाग ठेकेदार Ǔनजी एजɅͧसयां सरकारȣ संèथाएं A 1 Schedule of 
rates 

93

10 How many mazdoor or helper is required per 
mason for brick work?

1  1.5 to 2 3 4 Ƀटमाक[  के ͧलए ĤǓत åयिÈत ͩकतने मजदरू या हेãपर 
कȧ आवæयकता होती है?

1  1.5 स े2 3 4 B 1 Schedule of 
rates 

93

11 What is the process of determining the fair 
price or value of a property?

Valuation Estimation Fixation Taxation ͩकसी संपͪƣ का उͬचत मूãय या मूãय Ǔनधा[ǐरत करने 
कȧ ĤͩĐया Èया है?

मूãयांकन अनुमान ͩफÈसेशन टेÈसशसेन A 1 Valuation 94
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12 What is the value of dismantled material? Salvage Scrap Market Book ͪवघǑटत सामĒी का मूãय Èया है? साãवेज èĐेप बाजार पुèतक B 1 Valuation 94

13 What is the amount a property can fetch from 
open market?

Scrap value Salvage value Market value Book value एक संपͪƣ Èया है जो खलेु बाजार स ेĤाÜत कȧ जा 
सकती है?

èĐेप मूãय साãवेज मूãय बाजारȣ मूãय पुèतक मूãय C 1 Valuation 94

14 What is the annual periodic payment for 
repayment of the capital amount invested by a 
party?

Capital cost Annuity Depreciation Outgoings ͩकसी पाटȹ ɮवारा Ǔनवेश कȧ गई पू ंजी राͧश के 
पुनभु [गतान के ͧलए वाͪष[क आवͬधक भुगतान Èया है?

कैͪपटल कोèट वाͪष[कȧ डĤेीͧशएशन åयय B 1 Valuation 94

15 Which cement concrete proportion is used for 
damp proofing first class building?

1:1.5:3 1:2:4 1:2:6 1:4:8 Ĥथम Įेणी के इमारत को डमे Ĥूफ करने के ͧलए ͩकस 
सीमɅट कंĐȧट अनुपात का उपयोग ͩकया जाता है?

1:1.5:3 1:2:4 1:2:6 1:4:8 A 1 Specification 94

16 What is the minimum height specified for first 
class building?

3.3 m 3.7 m 3.8 m 3.9 m Ĥथम Įेणी के भवन के ͧलए Ûयूनतम ऊंचाई Èया है? 3.3 m 3.7 m 3.8 m 3.9 m B 1 Specification 94

17 Which cement concrete proportion is used for 
damp proofing second class building?

1:1.5:3 1:2:4 1:2:6 1:4:8 ɮͪवतीय Įेणी के भवन को डमे Ĥूफ करने के ͧलए ͩकस 
सीमɅट कंĐȧट अनुपात का उपयोग ͩकया जाता है?

1:1.5:3 1:2:4 1:2:6 1:4:8 B 1 Specification 94

18 What is the equation for computation of 
volume by trapezoidal formula?

Ěेपोजॉइडल सूğ ɮवारा वॉãयूम कȧ गणना के ͧलए 
समीकरण Èया है?

B 1 Computation 
of area, 
volume

94

19 What is the equation for computation of 
volume by prismoidal formula?

ͪĤèमोइडल फॉमू [ला ɮवारा वॉãयूम कȧ गणना के ͧलए 
समीकरण Èया है?

C 1 Computation 
of area, 
volume

94

20 What material is specified for the plinth of 1st  
class building?

First class brick work 
in cement mortar 1:6

Second class brick 
work in cement 

mortar  

Third class brick 
work in cement 

mortar 

Sum dried brick work 
in mud mortar 

1st Èलास ǒबिãडगं के िÜलंथ के ͧलए Èया सामĒी 
ǓनǑद[çट है?

सीमɅट मोटा[र 1: 6 मɅ 
Ĥथम Įेणी कȧ Ƀट का 

काम

सीमɅट मोटा[र मɅ दसूरȣ 
Įेणी कȧ Ƀट का काम

सीमɅट मोटा[र मɅ तीसरȣ 
Įेणी कȧ Ƀट का काम

ͧमɪटȣ के मोटा[र मɅ सम 
Ĝाइड ǒĦकवक[

A 2 Specification 94

21 What is the area by trapezoidal rule? 764.5 m² 770.5 m² 780.5m² 790.5m² Ěैपोज़ाइडल Ǔनयम ɮवारा ¢ेğ Èया है? 764.5 m² 770.5 m² 780.5m² 790.5m² D 2 Computation 
of area, 
volume

94

22 What is the area by simpson's rule? 717 m² 727 m² 959 m² 1090 m² ͧसàपसन Ǿल ɮवारा ¢ेğ Èया है? 717 m² 727 m² 959 m² 1090 m² B 2 Computation 
of area,volume

94
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# Question OPT A OPT B OPT C OPT D Question OPT A OPT B OPT C OPT D Ans Level Topic of 
syllabus

Week No 
of the 

Syllabus

1 What is marked as 'X'? Optical plummet Collimator Data out connector Bottom plate 'X' के Ǿप मɅ Èया ͬचिéनत है? ऑिÜटकल Üलमेट कोलȣमेटर डटेा आउट कनेÈटर बॉटम Üलेट A 1 Introduction 
parts and Use of 

total station

95

2 What is marked as 'X? Objective lens Collimator Optical plummet Data out connector 'X' के Ǿप मɅ Èया ͬचिéनत है? अͧभǺæय लɅस कोलȣमेटर ऑिÜटकल Üलमेट डटेा आउट कनेÈटर D 1 Introduction 
parts and Use of 

total station

95

3 What is marked as 'X'? Top Handle Collimator Optical plummet Data out connector 'X' के Ǿप मɅ Èया ͬचिéनत है? टॉप हɅडल कोलȣमेटर ऑिÜटकल Üलमेट डटेा आउट कनेÈटर B 1 Introduction 
parts and Use of 

total station

95

4 Which instrument is a combination of EDM, 
electronic theodolite and micro processor?

Total Station Tacheometer Diatomite Tellurometer कौन सा उपकरण EDM, इलेÈĚॉǓनक ͬथयोडोलाइट 
और माइĐो Ĥोसेसर का एक संयोजन है?

टोटल èटेशन टेͩकयोमीटर ͫडèटोमाईट टेãयुरोमीटर A 1 Introduction 
parts and Use of 

Total Station

95

5 Which program is used for erecting 
perpendicular line to base line?

Stake out Free station Reference line Tie distance बेस लाइन के ͧलए लंबवत रेखा खड़ी करने के ͧलए 
ͩकस काय[Đम का उपयोग ͩकया जाता है?

èटेक आउट ĥȧ  èटेशन संदभ[ लाइन टाई ͫडèटɅस C 1 Measurement 
with Total Station 

95
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6 Which program is used for setting out points? Resection Stake out Reference line Remote height अकं Ǔनधा[ǐरत करने के ͧलए ͩकस ĤोĒाम  का उपयोग 
ͩकया जाता है?

रȣसेÈशन èटेक आउट संदभ[ लाइन ǐरमोट हाइट B 1 Measurement 
with Total Station 

95

7 Which instrument is used to find out the co-
ordinates of a reflection and at the same time 
measuring the vertical angles? 

Auto level Total station Theodolite Transmit theodolite एक ĤǓतǒबबं के सह-Ǔनदȶशांक को खोजने के ͧलए और 
ऊÚवा[धर कोणɉ को मापने के ͧलए ͩकस उपकरण का 
उपयोग ͩकया जाता है?

ऑटो लेवल टोटल èटेशन ͬथयोडोलाईट Ěांसͧमट ͬथयोडोलाइट B 1 Features of 
Total Station 

96

8 What is the name of measurement for distances 
taken to a prism on reflecting foil most accurate?

Precise 
measurement 

Rapid measurement Tracking 
measurement 

Angle measurement सबस ेसटȣक Ǿप स े ĤǓतǒबǒंबत को ǐरफलेÈट  करने के 
ͧलए एक ͪĤÏम स ेदरूȣ के ͧलए माप का नाम Èया है?

सटȣक माप तेजी स ेमाप Ěैͩकंग माप कोण माप A 1 Features of 
Total Station 

96

9 Which measurement reduces the measurement 
time to a prism between 0.5 and 1's for both 
phase shift and pulsed systems?

Precise 
measurement 

Rapid measurement Tracking 
measurement 

Angle measurement ͩकस माप स ेफेस ͧशÝट और पãस Ĥणालȣ दोनɉ के 
ͧलए 0.5 और 1 के बीच ͪĤÏम का माप समय कम हो 
जाता है?

सटȣक माप तेजी स ेमाप Ěैͩकंग माप कोण माप B 1 Features of 
Total Station 

96

10 Which range can be obtained for a reflector less 
measurement taken with a phase shift system? 

50 m 100 m 150 m 200 m फेस ͧशÝट Ĥणालȣ के साथ परावत[क कम माप के ͧलए 
कौन सी सीमा ĤाÜत कȧ जा सकती है?

50 m 100 m 150 m 200 m B 1 Features of 
Total Station 

96

11 What is the formula for principle of operation of 
EDM?

Velocity = Time x 
Distance 

Velocity = Time / 
Distance 

Velocity = Distance 
x Time 

Velocity = Distance / 
Time

EDM के संचालन के ͧसɮधांत का सूğ Èया है? वेग = समय x दरूȣ वेग = समय / दरूȣ वेग = दरूȣ x समय वेग = दरूȣ / समय D 1 Principles of 
EDM

96

12 What is the abbreviation for EDM in surveying? Electronic Distance 
Measurement  

Engineering 
Distance 

Measurement 

Electro Discharge 
Machining 

Electronic Direct 
Mailing 

सवȶ¢ण मɅ EDM के ͧलए संͯ¢Üत नाम Èया है? Electronic Distance 
Measurement  

Engineering 
Distance 

Measurement 

Electro Discharge 
Machining 

Electronic Direct 
Mailing 

A 1 Principles of 
EDM

96

13 What is the shape of a single reflector prism? Cube corner Cuboid corner Circular Triangular corner एकल परावत[क ͪĤÏम का आकार Èया है? Èयूब कान[र Èयुबोइड कान[र सकु[ लर ǒğकोणीय कान[र A 1 Total station 
prism

96

14 In which conditions, the LCD screen does not 
work?

Cold Hot Warm Wind ͩकन पǐरिèथǓतयɉ मɅ, LCD èĐȧन काम नहȣं करती है? सदȹ हॉट वाम[ हवा A 1 Total station 
prism

96

15 Faulty temperature and pressure measurement 
occurs by which source of error in EDM?

Personal Instrumental Natural Environmental दोषपूण[ तापमान और दबाव माप EDM मɅ ğǑुट के ͩकस 
İोत स ेहोता है?

Ǔनजी उपकरण ĤाकृǓतक पया[वरण A 1 Total station 
prism

96

16 What is marked as 'X'? Reflector height Instrumental height Height of collimation Slope height 'X' के Ǿप मɅ Èया ͬचिéनत है? ĤǓत¢ेपक ऊंचाई उपकरण  कȧ ऊँचाई कोलȣमेशन  कȧ ऊँचाई èलोप हाइट B 1 Electronic 
display & Data 

recording 

96

  





17 What is the name of the figure given below? Rectangular and 
polar co-ordinates 

Polar to cartesian 
co-ordinates 

Rectangular co-
ordinates 

Polar co-ordinates नीच ेǑदए गए आंकड़ ेका नाम Èया है? आयताकार और Ģवुीय  
Ǔनदȶशांक

Ģवुीय  स ेकाटȶͧशयन को-
ऑͫड[नेɪस

आयताकार को-
ऑͫड[नेɪस

धवुीय Ǔनदȶशांक A 1 Rectangular and 
polar co-ordinate 

system

97

18 What is the name of the figure given below? Rectangular and 
polar co-ordinates 

Polar to cartesian 
co-ordinates 

Rectangular co-
ordinates 

Polar co-ordinates नीच ेǑदए गए आंकड़ ेका नाम Èया है? आयताकार और Ģवुीय  
Ǔनदȶशांक

Ģवुीय  स ेकाटȶͧशयन को-
ऑͫड[नेɪस

आयताकार को-
ऑͫड[नेɪस

धवुीय Ǔनदȶशांक C 1 Rectangular and 
polar co-ordinate 

system

97

19 What is the name of the figure given below? Rectangular and 
polar co-ordinates 

Polar to cartesian 
co-ordinates 

Rectangular co-
ordinates 

Polar co-ordinates नीच ेǑदए गए आंकड़ ेका नाम Èया है? आयताकार और Ģवुीय  
Ǔनदȶशांक

Ģवुीय  स ेकाटȶͧशयन को-
ऑͫड[नेɪस

आयताकार को-
ऑͫड[नेɪस

धवुीय Ǔनदȶशांक D 1 Rectangular and 
polar co-ordinate 

system

97

20 What is the formula to find out the sum of interior 
angles of a closed polygon traverse?

(n - 2) x 360° (n + 2) x 360° (n - 2) x 180° (n + 2) x 180° एक बंद बहु भुज के आंतǐरक कोणɉ का योग £ात करने 
का सूğ Èया है?

(n - 2) x 360° (n + 2) x 360° (n - 2) x 180° (n + 2) x 180° C 1 Terminology of 
open and closed 

traverse 

97

21 Which are dedicated to the particular instrument 
and can store and process surveying 
observation?

Data recorders Pocket calculators Field note books Pen-drives जो ͪवशषे उपकरण के ͧलए समͪप[त हɇ और सवȶ¢ण 
अवलोकन को संĒहȣत और संसाͬधत कर सकते हɇ?

डटेा ǐरकाड[र पॉकेट कैलकुलेटर फȧãड नोट बुक पेन Ĝाइव A 1 Electronic 
display & Data 

recording 

97

22 Which is fitted with a total station capable of 
storing 900 to 10000 points?

Memory card Data recorder Internal memory Field computer 900 स े10000 अकंɉ के भंडारण मɅ स¢म टोटल 
èटेशन के साथ कौन सा ͩफट है?

मेमोरȣ काड[ डटेा ǐरकॉड[र आंतǐरक मेमॉरȣ फ़ȧãड कंÜयूटर C 1 Electronic 
display & Data 

recording 

97

23 What is the advantage of Total Station? The instruments 
costly 

Does not provide 
field note 

Direct observation 
of sum not possible 

Greater accuracy in 
area computation 

टोटल èटेशन का Èया फायदा है?  महंगे उपकरण फ़ȧãड नोट Ĥदान नहȣं 
करता है

योग का Ĥ×य¢ 
अवलोकन संभव नहȣं है

¢ेğ संगणना मɅ अͬधक 
सटȣकता

D 2 Advantage & 
Disadvantages 
of total station

95

24 What is the disadvantage of Total Station? Automation of old 
maps 

Local language 
support 

Full GIS creation The instrument is 
costly 

टोटल èटेशन का नुकसान Èया है? पुरान ेनÈश ेका 
èवचालन

èथानीय भाषा समथ[न पूण[ जीआईएस Ǔनमा[ण उपकरण महंगा है D 2 Advantage & 
Disadvantages 
of total station

95

25 Which is the total station with latest technology? Mechanical Semi automatic Manual Automatic नवीनतम तकनीक वाला टोटल èटेशन कौन सा है? यांǒğक अध[ èवचाͧलत मैÛयुअल èवचाͧलत D 2 Types of Total 
station 

95
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26 Which program is used to determine polygonal 
distance?

Tie distance Reference line  Free station Resection बहु भुज दरूȣ को Ǔनधा[ǐरत करने के ͧलए ͩकस ĤोĒाम  
का उपयोग ͩकया जाता है?

टाई ͫडèटɅस संदभ[ लाइन ĥȧ  èटेशन रȣसेÈशन A 2 Measurement 
with Total station 

95

27 Which program is used to determine the position 
of new station with reference to two known 
points?

Free station Tie distance Remote height Reference line दो £ात ǒबदंओुं के संदभ[ मɅ नए èटेशन कȧ िèथǓत 
Ǔनधा[ǐरत करने के ͧलए ͩकस ĤोĒाम का उपयोग ͩकया 
जाता है?

ĥȧ èटेशन टाई ͫडèटɅस ǐरमोट हाइट संदभ[ लाइन A 2 Measurement 
with Total Station 

95

28 Where is data stored in Total Station? Pen drive Data card Micro processor External hardware टोटल èटेशन मɅ डटेा कहाँ èटोर ͩकया जाता है? पेन Ĝाइव डटेा काड[ माइĐो Ĥोसेसर एÈसटन[ल  हाड[वेयर C 2 Types of Total 
Station 

95

29 What is the advantage of using EDM? Precise 
measurement of 

distance 

Electronic batteries Expensive Accuracy affected 
by atmospheric 

condition 

EDM का उपयोग करने का Èया फायदा है? दरूȣ कȧ सटȣक माप इलेÈĚॉǓनक बैटरȣ महंगा वायुमंडलȣय िèथǓत स े
Ĥभाͪवत सटȣकता

A 2 Principles of 
EDM

96

30 What is the disadvantage of using EDM? Capable of 
measuring long 

distances 

Precise 
measurement of 

distance 

Accuracy affected 
by atmospheric 

conditions 

Reflectorless are 
single person 

operation 

EDM का उपयोग करने का नुकसान Èया है? लंबी दरूȣ नापने मɅ स¢म दरूȣ कȧ सटȣक माप वायुमंडलȣय िèथǓतयɉ 
स ेĤभाͪवत सटȣकता

ǐरलेÈटोरलेस एकल 
åयिÈत ऑपरेशन हɇ

C 2 Principles of 
EDM

96

31 Which trigonometrical value is correct? O/H = sin β A/H = sin β O/A = sin β H/O = sin β कौन सा ǒğकोणͧमतीय मान सहȣ है? O/H = sin β A/H = sin β O/A = sin β H/O = sin β A 2 Total Station 
prism

96

32 What is the sum of the interior angles of a closed 
polygon traverse that has of  8 sides?

720° 1080° 1440° 1800° एक बंद बहु भुज के आंतǐरक कोण का योग Èया है 
िजसमɅ 8 भुजाए ंहɇ?

720° 1080° 1440° 1800° B 2 Terminology of 
open and closed 

traverse 

97

33 Where the open traverse is used? Topographic survey Layout of 
engineering works 

Construction of 
pipelines 

Property 
measurement 

खलेु Ěेवस[ का उपयोग कहां ͩकया जाता है? èथलाकृǓतक सवȶ¢ण इंजीǓनयǐरगं कायɟ का 
लेआउट

पाइपलाइनɉ का Ǔनमा[ण संपͪƣ माप C 2 Terminology of 
open and closed 

traverse 

97



# Question OPT A OPT B OPT C OPT D Question OPT A OPT B OPT C OPT D Ans Level Topic of 
syllabus

Week No of 
the Syllabus

1 Which country developed the GPS? USA India Russia Italy GPS ͩकस देश ने ͪवकͧसत ͩकया? अमेरȣका भारत Ǿस इटलȣ A 1 Introduction of 
GPS system

98

2 What is meant by GPS? Global Processing 
System 

Global Positioning 
System 

Geographic 
Positional System 

Geographic 
Processing System

GPS का Èया मतलब है? Global Processing 
System 

Global Positioning 
System 

Geographic 
Positional System 

Geographic 
Processing System

B 1 Introduction of 
GPS system

98

3 What is the orbital height for GPS? 10,00 Km 15,000 Km 20,180 Km 24,280 Km GPS के ͧलए क¢ीय ऊँचाई Èया है? 10,00 Km 15,000 Km 20,180 Km 24,280 Km C 1 Satellite and 
convensional 

geodetic system

98

4 Which is the common choice of co-ordinate for 
specifying position?

Latitude, departure 
and elevation 

Latitude, longitude 
and elevation 

Northing, southing 
and easting 

Southing, azimuths 
and elevation 

िèथǓत को ǓनǑद[çट करने के ͧलए समÛवय का सामाÛय 
ͪवकãप कौन सा है?

अ¢ांश, डीपाच[र और 
ऊंचाई

अ¢ांश, देशांतर और 
ऊँचाई

नॉͬथɍग, साउͬथगं और 
ईिèटंग

साउͬथगं, अज़ीमुथ और 
ऊंचाई

B 1 GPS co-ordinate 
system

98

5 What is the distance between the UTM grid lines 
on topo maps?

100 m 1000 m 2000 m 5000 m टोपोमेप पर UTM ͬĒड लाइनɉ के बीच कȧ दरूȣ Èया है? 100 m 1000 m 2000 m 5000 m B 1 GPS co-ordinate 
system

98

6 Where the master control station of control 
segment located?

Hawaii Colorado Diego Garcia Kwajalein Ǔनयंğण खडं का माèटर कंĚोल èटेशन कहाँ िèथत है? हवाई कोलोराडो ͫडएगो गाͧस[या Èवाजेलȣअन B 1 Components of 
GPS system

98

7 How many operational satellites are available in 
space segment?

24 28 32 36 अतंǐर¢ ¢ेğ मɅ ͩकतने पǐरचालन उपĒह उपलÞध हɇ? 24 28 32 36 A 1 Components of 
GPS system

98

8 Which segment of GPS consists of satellite? Control Space User Navigation GPS के ͩकस सेगमɅट मɅ उपĒह होते हɇ? कÖĚोल èपेस यूजर नेवीगेशन B 1 GPS Segment 98

9 Which segment of GPS consists of receivers? Control User Space Navigation GPS के ͩकस सेगमɅट मɅ ǐरसीवर होते हɇ? कÖĚोल यूजर èपेस नेवीगेशन B 1 GPS Segment 98

10 What is an advantage of GPS survey? High precision Weather dependent Night operation only Site intervisibility 
required 

GPS सवȶ¢ण का एक फायदा Èया है? उÍच पǐरशुɮधता मौसम कȧ मार केवल रात का ऑपरेशन साइट कȧ आवæयकता है A 1 Principle of 
operation of GPs

98

11 Which is an application of GPS for visually 
impaired?

MOBIC GIS Ranchers Navigation Ǻिçटबाͬधतɉ के ͧलए GPS का कौन सा एिÜलकेशन है? मोǒबक GPS रेमचस[ नेवीगेशन A 1 Application of 
GPS

99
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12 Which is an application of GPS for visually 
impaired in India?

Marine GOS Drishti Ranchers GIS भारत मɅ Ǻिçटबाͬधतɉ के ͧलए GPS का कौन सा 
एिÜलकेशन है?

समुġȣ GOS Ǻिçट रेमचस[ GIS B 1 Application of 
GPS

99

13 What is meant by the study of something without 
direct contact?

Remote sensing Geographic 
information system 

Tachometry Ranging ǒबना Ĥ×य¢ संपक[  के ͩकसी चीज के अÚययन स ेÈया 
अͧभĤाय है?

ǐरमोट सɅͧसगं िजयोĒाͩफक 
इनफामȶशन ͧसèटम

टेकोमेĚȣ रɅिजंग A 1 Remote sensing 99

14 What is marked as 'X'? Target Energy source Sensor Transmission 'X' के Ǿप मɅ Èया ͬचिéनत है? टारगेट ऊजा[ İोत सɅसर Ěांसͧमशन C 1 Remote sensing 99

15 What is the practice of determining the 
geometric properties of objects from 
photographic images?

Photogrammetry Positioning Remote sensing Orientation फोटोĒाͩफक छͪवयɉ स ेवèतुओ ंके Ïयाͧमतीय गुणɉ को 
Ǔनधा[ǐरत करने का अßयास Èया है?

फोटोĒामेĚȣ पोिजशǓनगं ǐरमोट सɅͧसगं ओरȣएनटेशन A 1 Photogrammetry 
and aerial 

photographs

99

16 What is the another name for exposure station? Air station Nadir point Zenith point Horizon point एÈसपोज़र èटेशन का दसूरा नाम Èया है? एयर èटेशन नाǑदर ǒबदंु जेǓनथ ǒबदंु होरȣजॉन ǒबदंु A 1 Photogrammetry 99

17 What is an advantage of GPS survey? Two dimensional Three dimensional Weather dependent Only day tim 
operation 

GPS सवȶ¢ण का एक फायदा Èया है? दो आयामी तीन आयामी मौसम [पर Ǔनभ[र है केवल Ǒदन का ऑपरेशन B 1 Principle of 
operation of GPs

98

18 What is an advantage of digital signal? High cost Difficult to control Noise immunity Rigidity in response 
to design 

ͫडिजटल ͧसÊनल का एक फायदा Èया है? उÍच लागत Ǔनयंğण करना मुिæकल शोर उÛमुिÈत ͫडजाइन रेèपɉस मɅ 
कठोरता

C 2 GPS signal code 99

19 What is the process of getting digital equivalent 
of analog signals for processing?

Data acquisition Data processing Image recognition Pattern recognition Ĥसंèकरण के ͧलए एनालॉग ͧसÊनल के ͫडिजटल समक¢ 
ĤाÜत करने कȧ ĤͩĐया Èया है?

आंकड़ा अͬधĒहण डाटा Ĥासेͧसगं इमेज ǐरकोगǓनशन पैटन[ ǐरकोगǓनशन A 2 GPS signal code 99

20 What is an advantage of digital over analog 
signal processing?

Digital system is 
difficult to 

reprogramme 

Digital signal 
processing provides 

better control of 
accuracy 

Digital signals are 
difficult to store 

without deterioration 

More ancient signal 
processing 

algorithms can be 
used 

एनालॉग ͧसÊनल Ĥोसेͧसगं पर ͫडिजटल का एक फायदा 
Èया है?

ͫडिजटल ͧसèटम को 
ͩफर स ेसंगǑठत करना 

मुिæकल है

ͫडिजटल ͧसÊनल 
Ĥोसेͧसगं सटȣकता का 
बेहतर Ǔनयंğण Ĥदान 

करता है

ͫडिजटल ͧसÊनल खराब 
होने के ǒबना èटोर 
करना मुिæकल है

अͬधक Ĥाचीन ͧसÊनल 
Ĥोसेͧसगं एãगोǐरदम का 
उपयोग ͩकया जा सकता 

है

B 2 GPS signal code 99

21 What is the advantage of photogrammetry? Weather dependent Covers large area Costlier Complex system फोटोĒामͧमǓत का लाभ Èया है? मौसम पर Ǔनभ[र बड़ा ¢ेğ कवर करता है महंगा जǑटल ͧसèटम B 2 Photogrammetry 99

22 What is the advantage for in setup of instrument 
photogrammetry?

Heavy equipments 
needed 

Weather dependent Less time 
consuming 

Costlier इंèǫमɅट फोटोĒामेĚȣ के सेटअप के ͧलए Èया फायदा है? भारȣ उपकरणɉ कȧ 
जǾरत

मौसम ͪवभाग कम समय लेने वाला महंगे C 2 Photogrammetry 99
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